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QUESTION 1

Refer to the exhibit.

FI-A

VIC

Which VIC model supports two wire connectivity to each Fabric Interconnect?
A. VIC 1227
B. VIC 1557
C. VIC 1387
D. VIC 1457

Correct Answer: A

QUESTION 2
A. creates hooks tor services related to third-party abstraction applications
B. does not perform caching, deduplication: and compression of data

C. an Ubuntu based VM running in the control space of each individual server, having linear access to the server\\'s
VMs and networking controls

D. needs network access to ESXi. other CVMs, and management network
E. is installed automatically by the HyperFlex installer, configured through the installer

Correct Answer: DE
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QUESTION 3

With which three components must every HyperFlex cluster be equipped with in regard to disks? (Choose three.)

A. NVMe drives

B. there are no specific requirements

C. same type of cache drives

D. same type and size of capacity of drives
E. same number of capacity drives

F. SAS drives

Correct Answer: CDE

QUESTION 4

Which two ways does Cisco HyperFlex upgrade the traditional RAID? (Choose two.)

A. HyperFlex enables stretched RAID arrays spanning multiple geographic sites.

B. Hardware replacement initiates self-healing with minimal impact

C. Limiting the number of drives locally, which are not a part of the shared datastore.

D. Distributing data locally, not just across the hosts in HyperFlex cluster

E. Eliminating the need for additional hardware cards, while maintaining high performance.

Correct Answer: BE

QUESTION 5

When cabling a given HX node to the Fabric Interconnect which three actions are required? (Choose three.)
A. Connect the node to different port numbers on each of the two Fabric Interconnects.

B. Connect port 1 on the VIC to Fabric Interconnect A.

C. Connect server port L1 to Fabric Interconnect port L1.

D. Connect the node to the same port number on each of the two Fabric Interconnects.

E. Connect server port L2 to Fabric Interconnect port L2

F. Connect port 2 on the VIC to Interconnect B.
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Correct Answer: BDF

QUESTION 6

Which two processes does failure on a node initiate? (Choose two.)

A. Distributed pooled data is migrated off nodes to master data store.

B. Affected node is marked as unhealthy and placed into standby mode

C. A call-home process is initiated and the failure is reported to TAC

D. The VMs on the failed node are moved to another node by vSphere high availability
E. The system is marked unhealthy but remains operational.

Correct Answer: DE

QUESTION 7

Which two results are expected when you replace a node or expand a cluster? (Choose two.)
A. Distributed pooled data is migrated off nodes to master data store.

B. Affected node is marked as unhealthy and placed into standby mode

C. vSphere DRS migrates the virtual machines to the new node to balance the load

D. On node replace, the self-healing must finish for the cluster to be healthy

E. The cluster profile is updated and RAID takes care of rebalancing the load.

Correct Answer: CD

QUESTION 8

How much memory is reserved for the controller VM in the HX220c?
A. 48 GB

B. 12 GB

C.24GB

D. 78 GB
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Correct Answer: A

QUESTION 9

What is required to cluster a pair of Fabric Interconnects?
A. uplink connections to the enterprise network

B. HXDP 3.5.2 or better

C. connection between the Fl pair using ports L1 and L2
D. UCS Manager 2.1 or better

Correct Answer: C

QUESTION 10

What is the minimum amount of memory required for an HX node?
A. 192 GB

B. 64 GB

C.32GB

D. 128 GB

Correct Answer: D
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